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TLOCRT PRIZEMLJA
M1:100

STAN S1
soba 1 10,44 m?
soba 2 9,36 m?
dn.bor.+kuh.+blag. 26,98 m?
kupaonica 4,86 m?2
hodnik 5,70 m?

terasa (9,11 m?x0,5) 4,56 m?
vrt 1 (16,08 m2x0,25) 4,02 m?

UKUPNO STAN S1: 65,92 m2

STAN S2
soba 1 10,08 m?
soba 2 9,00 m?
dn.bor.+kuh.+blag. 30,93 m?
kupaonica 5,08 m?2
wc 2,16 m?
hodnik 10,33 m?

terasa (14,80 m?x0,5) 7,40 m?
vrt 2 (92,06 m2x0,25) 23,02 m?

UKUPNO STAN S2: 98,00 m2
STAN S3
soba+kuh.+blag. 23,16 m?
kupaonica 4,07 m?2

loda (5,52 m?x0,75) 4,14 m?
vrt 3 (15,84 m2x0,25) 3,96 m?

UKUPNO STAN S3: 35,33 m2
STAN S4
soba+kuh.+blag. 23,16 m?
kupaonica 4,07 m?

loda (5,95 m?x0,75) 4,46 m?
vrt 4 (15,84 m?x0,25) 3,96 m?

UKUPNO STAN S4: 35,65 m2
STAN S5
soba+kuh.+blag. 23,16 m?
kupaonica 4,07 m?

loda (5,95 m?x0,75) 4,46 m?
vrt 5 (15,84 m2x0,25) 3,96 m?2

UKUPNO STAN S5: 35,65 m2
STAN S6
soba 9,86 m?
dn.bor.+kuh.+blag. 22,60 m?
kupaonica 4,36 m?
hodnik 5,20 m?

loda (6,65 m2x0,75) 4,99 m?
vrt 6 (33,98 m2x0,25) 8,50 m?

UKUPNO STAN S6: 55,51 m2
STAN S7
soba 9,66 m?
dn.bor.+kuh.+blag. 23,46 m?
kupaonica 4,77 m?
hodnik 3,30 m2

loda (6,65 m?x0,75) 4,99 m?
vrt 7 (14,80 mx0,25) 3,70 m?

UKUPNO STAN S7: 49,88 m2
sprema 6,84 m?
sprema 5,78 m?
sprema 5,78 m?

UKUPNO: 18,40 m?

ZAJEDNICKI PROSTORI
vodomjeri 8,57 m?
elektro brojila 7,13 m?
hodnik 24,22 m?
stubiste 17,59 m?

UKUPNO ZP: 57,51 m?




